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SOCIOLOGY
[Honours]
PAPER — IV
Full Marks : 90

Time : 4 hours

‘The figures in the right hand margin indicate marks

~ Candidates are required to give their answers in their
own words as far as practicable

Hlustrate the answers wherever necessary

GROUP — A

Answer any two of the following questions : 5 x 2

1. Define theory. Discuss the relationship between
theory and fact. 1

2. What is social research ? Point out the uses and
abuses of social rescarch. 5+5+5
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3. Where is survey research undertaken ? Discuss
the process of face to face interview. Point out
the merits of this technique. 5+5+3

4. What is concept? Discuss the procedure of
operationalization of concept with examples.
5+ 10
5. What are the different types of research design 7
Write a note on problem formulation in
research design. ' _ 5+ 10

6. Discuss the different stages of hypothesis
formulation, 15

GROUP - B
Answer any five of the following questions : 8 x 5
7. Can sociology be value free ? Discuss. 8
8. What is the utility of sampling ? Poinf out the

proper context of employing probability and
non-probability sampling. 4 + 4
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9. Write a note on the general components of field
research. 8

10. What is 'unit of analysis'? Point out the
difference and interlace between methodology
and method. 4+4

11. What is measurement ? Explain the levels of
measurement cmployed in social research. 3 +35

12. What is the significance of central tendency ?
Find out mean and median for the following

data: _ 2+3+3
Class Interval Frequency
15-19 9
20-24 6
25-29 - i0
30-34 15
3539 9
40-44 8
45-49 4
50-54 2
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13.

14.

15.

16.

(4)

What is the utility of the measure of
dispersion ? Work out standard deviation and

mean deviation from the following frequency

~ table. 24543
Class Interval Frequency
-20-29 7
30-39 ' 13
40-49 19
50-59 14
60-69 11
7G-79 8
80-89 - 4

Write a note on the importance of statistics in
social research. 8

Mention the proper context of employing
mean, median and mode, 8

Draw ahistogram and frequency polygon from
the table given below : 4 +4

Class Interval: 50-60 60-70 70-80 80-90 90-100

Frequency : 12 12 15 8 5
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17.

18.

19.

20.

21.

22,

23.

24.

25.

(3)

GROUP —C

What is focus interview ?

Wﬁat is sampling error ?

What is hypothesis ?

Define inductive theory.

What is content analysis ?

Define continuous and discrete variables.

What do you mean by‘dependenrt and independent
variable ?

What are the types of errors encountered in
different stages of research ?

What is cross-sectional research ?

26. Define questionnaire.
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Answer any five of the following questions: 4 x 5

4

4

( Turn Qver )



(6)

IHE™

FRRG - ATET TGN AN [TRNE

_-W@%ﬁrwﬂ@?ﬁmm@ww@wm@ﬂ?

LY

<!

@l

81

o —
ﬂm‘fﬁmmﬂ@g Y& X

SIEA IR WG | UG @ SRR W AeE At
FZ | o+ 5%

AT st & 7 ANfET  SRAEE gwst 8
AR Afed w8 | ¢+e+¢

FEPFIEE AERFA THS (P THLE SR 9
7 7 AR rweR afiem e 3 1 @2
sifermre sidz fregfe W 39 @+

g & 7 TwrArE MY HIFAE IEAFREA
afrmefa B & o) ¢+ e

UGAHSOCTHAV/S ( Continued )



(7)

¢l A TR Rfew el R R 7 ARl e

Py ARSI et aaft BIgt &Y ¢+ 50

ol ATy fefierg f{ifes gietale Siana 99 | va
faotst —%

@ & A6H drae $ag WS ¢ b ox @

q Weey & Tem-fReets 2eq e 7 Sl
i v

pi TRRTR Sercmifel o 3R 1 e WER e

Smaat wfea wREE afEn auew e ow
TTEE ¥ | . 8+8

S| TG SR oy SommelE eom @3 B
@ | _ ‘ '8

solReMweR @33 & 7 wfeRm e 4wfeT W
AT 8 A=oF i 39 | 8+ 8

yy1ofAie Bite QA ? INifET AEEE IR
*RE e &1 i 39 | o+ @

“UGA/SOC/HTV/15 . { Turn Gver )



( 8)

Yol (FE dgcee awy & 7 falaRs sg o

stifafss org ¢ W fef ¥9 ) X+o+e

R e et

15-19 5

20-24 6

25-29 10

30-34 15

35-39 9

4044 8

45-49 4

5054 2

yo! RpfS «famer awwaret § 7 o o
T Rpfc e Rpfe fRfaam t s+v+0

e e syepTeRy
20-29 7
30-39 13
40~-49 19
50~59 14
60-69 11
70-79 8
80-89 4

UGALSOCHAVS ( Continued )

I



(9)

g1 AR ARans R ewy R
g5 Bt @Y v

y¢i M oy, WY 8 TN BFAA JIYRT NS
v ot 9 ) v

yol Smr Al (T SO WEA I SAHAN

I T I | 8 + 8
0§ af¥ . 50-60 60-70 70-80 80-90 90-100
spredy ;12 12 15 8 5

ot — 7
mcﬂﬂ’ﬁsﬁmmﬁe: 8 x ¢
Q| GFIRPT AP § ? | 8
Yo qEEe § 7 | -8
s St 7 | 8
301 WIER UTEd Aewt WS | 8
33178 et 3 2 8

UGHSOCHAV/S { Turn Over



( 10 )
22| 4RAR”MEF 8 #¥% ( Continuous and discrete)
g F 7 8

20| ST uae aféaia vee Tee 7 @ 7 8
281 9MANT Rfew ffim R wEe Sife TeRal

YT (AL | 8
¢ WO 9IS RN I I 7 8
QY| A AR TS | 8

UGAYSOCH/IV/S : MV — 405



